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griddle Squares 2006

5 : 5 5 : 5 In this puzzle, fill the grid with digits
{} : O <> 19 : <> O : {} 15 0to 9 using the rules and sums given.

i <> : : O 22 : : : O 14 Puzzles created in 2006 by David Millar.
LIl Modified May 31, 2010, and March 3, 2011.

: . : : : Thanks to Maree Cassidy who caught a mistake.
: O : <> 14 O : . <> : 14 For more puzzles go to http:y//www.thegriddle.net

SETTTTT . PP LR ET I EEEEE LRI L hRE EEEEEE I'm on Twitter at http://twitter.com/thegriddle
ﬁ Must be prime, at least 2, have
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no neighbors orthogonally that
are prime or 1
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O O <> 18 O <> 20 unless the neighbor is a diamond
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Q - 12 <> 18 Q Not.a multiple of 3, ar.ld. all
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